433E

S

¢
e
w

K

1901 Jlo = J510 L galh oyl i )15 (50 590 (59939 9903 T

VP YIYA

|

Lkdlé.m SJLM:I 9 KIREY s‘si[.‘:h.o] .313.9 ‘Jsd.:_-

€ oo Mol CSllow 39 ZMol 8L ST

\.
> R
AvY 4

Ol gedbwl (&9t
52308 5 Clida pole o yls
2945 hjgel hacw plejlw

S

(1041 4S) S jpold ol 4B
P —— _

| RO | FOPRRIRY )

lads G | Syleid 3 | Jlguw Slaws Sloel slga Gy,
E \ Y. ((mdSSl) pnadei g (gogos b3 !
v g £ sl 8 Y
3 ¥ A Ry Lmilidisg o ¥
e as Yo sl ey £

R R R e R R e R R e e R R e A R R I AR R

( .QJIQPE}MOHJT C?-’-l )

( i lexo Gl paiilo ) n.:Lé.L.u’)

AR R R e e R R e R R e R R R A R R R AR R

g b3 SN gho g MilRGe 1 g i oo il sl 11 3900 L g B 5 AR ol 40 (5t 403003 T B0 3 o (omep (S0 ASIT) iy 120 0 ST JLH g i it o




Y amio 433E (BeY a5) (Kdbjpals iy ;15

ol (39031 Aaadsr 30 (bl jgua 3 Cund Ao dr oy )0l 50 Lasl g wiliasuiue (40 455 0yl ¢ o0l )5 ooliio

[P TES RCT - POV PRSP Ry P E g | I R — 310 85l b il |
CJ‘:‘ J).-..S oy ] &34 .LhJ‘B.uu d..‘a-).d.b C] d..DLIC.A.UL’ tSYL’ GLn.ub 4 09)3 n_i)Lf 6Yb ).b C)..L..n ‘:.Uosb oJLn...o lJ
mileson 9l 1y plasbzenly (ol 5 W lgw 2 183 g3 p oud

HgelSl) (v 3 o308 U

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-

8-

Growing older and more decrepit appeared to be an ---------- and necessary part of being
human.

1) inevitable 2) intangible 3) unforeseecable 4) unsentimental

I don’t really think I’d have the ---------- to finish a marathon!

1) concern 2) candor 3) endurance 4) autonomy

Her marriage started to improve once her husband finally ---------- he had an anger
problem and bhegan to take counseling.

1) identified 2) emerged 3) hesitated 4) acknowledged
Society is an interdependent system that ---------- widespread cooperation to function.

1) proceeds 2) requires 3) fascinates 4) conveys

Our blue planet is a ---------- . Life depends on water, yet in its natural form, the water in
the oceans will not sustain us because we cannot drink salt water.

1) refuge 2) remedy 3) paradox 4) vacillation

I thought I was buying a/an ---------- native Indian carving, but discovered later that it
was machine-made.

1) genuine 2) definitive 3) secretive 4) artificial

The entrepreneur had a well-deserved reputation for ---------- , having accurately
anticipated many changes unforeseen by established business leaders.

1) modesty 2) hindsight 3) prescience 4) extroversion
Studies of longevity among turtles are sometimes ---------- by the fact that the subjects
live so long that researchers retire before the studies can be completed.

1) stabilized 2) hampered 3) diversified 4) veritied

Kevlar is a ---------- new material which is used for everything from airplane wings, to
bullet-proof vests, to hockey sticks.

1) prescriptive 2) versatile 3) dormant 4) derivative

10- If exploitation of the planet’s resources continues as at present, then the lifestyle we

currently enjoy ---------- the risk of causing significant damage to the world.
1) proposes 2) puts 3) shapes 4) runs
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PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Scientists and philosophers have been grappling with the relationship between
language and thought for centuries. There have always been (11) ---------- that our
picture of the Universe depends on our native tongue. Since the 1960s, however,
(12) --mmmmmee- the ascent of thinkers like Noam Chomsky, and a host of cognitive
scientists, (13) ---------- that linguistic differences don’t really matter, (14) ----------
language is a universal human trait, and that our ability to talk to one another owes
more to our shared genetics (15) -----—--—-—-- . But now the pendulum is beginning to
swing the other way as psychologists re-examine the question.

11- 1) that they argue 2) those who argue
3) an argument by those 4) arguing those who
12- 1) with 2) for 3) by 4)in
13- 1) whose consensus 2) who has the consensus
3) the consensus has been 4) is the consensus
14- 1)a 2) the 3) what 4) that
15- 1) and our cultures vary 2) than to our varying cultures
3) than our cultures that vary 4) as to our varying cultures

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Aspergillosis is a fungal infection which may be observed in most terrestrial animals,
birds as well as humans. The infection usually the lungs, caused by the genus
Aspergillus, a common mold that is breathed in frequently from the air around, but
does not usually affect most people. It generally occurs in individuals with lung
diseases such as asthma, tuberculosis or cystic fibrosis, or those who have had a stem
cell or organ transplant, and those who cannot fight infection because of medications
they take such as steroids and some cancer treatments. Aspergillosis occurs in chronic
or acute forms which are clinically very distinct. Most cases of acute aspergillosis
occur in people with severely compromised immune systems, e.g. those undergoing
bone marrow transplantation.

Chronic colonization or infection can cause complications in people with a
background of respiratory illnesses, such as asthma, cystic fibrosis, sarcoidosis,
tuberculosis, or chronic obstructive pulmonary disease. Most commonly, aspergillosis
occurs in the form of chronic pulmonary aspergillosis, simple aspergilloma, or allergic
bronchopulmonary aspergillosis. Although some forms of the infection are
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16-

17-

18-

intertwined; for example allergic bronchopulmonary aspergillosis and simple
aspergilloma can progress to chronic pulmonary aspergillosis. Some noninvasive
manifestations of the disease include fungal sinusitis (both allergic in nature and with
established fungal balls), otomycosis, keratitis and onychomycosis. However, the
involvement of the skin is uncommon and in most instances, these manifestations are
less severe, and curable with effective antifungal treatment.

When discussing about the involvement of terrestrial animals, it refers to ---------- .
1) the land-living animals

2) the animals susceptible to infection

3) all animals except the avian or birds

4) those who are restricted to an enclosed field

Which statement in the subject of affection with Aspergillosis is True?

1) Inhalation of Aspergillus induces respiratory infection in animals and humans
2) Poor hygienic and polluted environment can lead to infection

3) It may affect different organ tissues of the body in

4) It causes involves the respiratory system

According to the text which is NOT true?

Aspergillus is a common mold, which tends to affect those who already have had ---------- A
1) cystic fibrosis or tuberculosis 2) received some medications
3) a suppressed defensive system 4) some disorders in breathing

Which kind of infection occurs in the individuals having underlying respiratory problems?
1) Invasive pulmonary mycosis

2) Chronic pulmonary infection

3) Simple pulmonary aspergilloma

4) Allergic bronchopulmonary aspergillosis

Which of the following features is NOT included in the noninvasive forms of the infection?
1) Fungal infection of the nails

2) Mycotic inflammation of the sinuses

3) Presence of infection in eyes and ears

4) Frequent affection of epidermal or dermal tissues

PASSAGE 2:

Gastrointestinal parasite infection in small ruminants remains one of the major
economic losses caused by decreased productivity. These parasites have become more
difficult to manage in small ruminants because of the parasite’s increasing resistance
to several anthelmintics. Amongst livestock diseases, gastrointestinal parasite infection
in ruminants results in adverse effects on feed intake, growth rate, carcass weight and
composition, wool growth, fertility, and milk yield. One important parasitic infection
in small ruminants is coccidiosis, which is caused by coccidian parasites of the genus
Eimeria. It prevails prevalently in many parts of the world, either clinically or
subclinically, and contributes to enteric disease, especially in young or stressed goats
under poor farm management and being highly fatal.

Coccidia are protozoan parasites that damage the lining of the small intestine. Since
the small intestine is an important site of nutrient absorption, coccidia can cause
weight loss, stunted growth, and diarrhea containing blood and mucous. Other clinical
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21-

22-

23-

25-

signs include dehydration, fever, anemia, and breaking of wool or hair. Fly strike and
secondary infections can also result from coccidiosis. Coccidia are usually found in
animals in confinement or intensive grazing systems, as a result of poor sanitation,
overcrowding, and stress. Animals between one and six months of age in feedlots or
intensive grazing systems are at highest risk for coccidiosis. Outbreaks of coccidiosis
can be controlled by implementing good sanitation techniques, providing clean water,
rotating pastures, and avoiding overstocked pens. Outbreaks of coccidiosis can be
possible with sulfa drugs. Coccidiostats can be administered to inhibit coccidial
reproduction.

Which one is the most important problem for the value of animals when infecting with
intestinal parasites?

1) Skin and wool impairments

2) Decreased food consumption

3) Reductive and adverse effects on fertility

4) Low rate of growth and weight gain

The main targeted organ system of the parasite Eimeria is ---------- :
1) renal tubules 2) respiratory ducts
3) Alimentary canal 4) Integumentary system

In order to control the prevalence of coccidiosis which proceeding is NOT advised?
1) Keeping a population of animals in a clean pen.

2) Establishment of hygienic protocols.

3) A routine treatment with sulfa drugs.

4) Using different new or clean pastures.

All of the following descriptions about the coccidian disease are true EXCEPT;
1) It 1s an enteric infection in small ruminants

2) It can be diagnosed by diarrhea, fever and anemia

3) Having high mortality in intensive grazing systems

4) It can be transmitted rapidly from one animal to others

For prevention of infertility problems which approach is recommended?

1) Paraclinical examinations

2) Providing disease controllers

3) Administration of coccidiostats

4) Keep away the animals from confinement

PASSAGE 3:

Fungi are eukaryotic, heterotrophic, unicellular (chytrids or yeast form) or multicellular
tubular (hyphal or mold form), rigid cell-walled, lacking chlorophyll and spore-producing
organisms. As eukaryotes, fungi contain membrane-bound nuclei and many organelles
including cell membrane which the latter has the sterol, ergosterol. Biosynthesis of this
integral membrane component is inhibited by the azole antifungals. Fungi are insensitive to
antibacterial antibiotics. Also they are heterotrophic organisms (dependent on absorption of
organic carbon compounds from their habitat for their nutrition) that are saprobes and/or
parasites.

Fungi secrete enzymes into the substratum and absorb the digested compounds
through their cell walls resulting in extracellular digestion and absorptive nutrition.
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26-

28-

29-

30-

The cell walls of fungi contain chitin, chitosan, glucan, mannan and some other
components. The antifungal compounds, polyoxins and echinocandins, inhibit the
biosynthesis of chitin and glucan, respectively. Like animals, in fungi also glycogen is
the storage polysaccharide material.

Fungi occur in two basic forms [tubular (filamentous) or yeast forms] responsible
for secretion and absorption of materials, and production of asexual and sexual
propagating structures. Fungal filaments are known as hyphae collectively making up
the mycelium. The hyphae are either mostly aseptate or septate. The aseptate hyphae
are coenocytic. Cytoplasm and cellular organelles can stream through the pores which
are simple in Ascomycota and polypore in many Basidiomycota. These pore
morphologies are important for diagnosis for the two groups. The hyphal growth is
apical. Branching patterns and diameters of hyphae are also often diagnostic. The yeast
form is unicellular, reproduces by budding, and its growth is mediated by a
polarisome. The pattern of budding is often helpful for diagnosis.

Which of these statements is compatible with the spicifations of the fungi?
1) They are organisms devoid of tough cell wall and chlorophyll

2) azole antifungals can promote their membrane activity

3) the sterol, ergosterol is found in their cell membrane

4) Antibacterial antibiotics are detrimental for them

Some fungi are heterotrophic and saprobe organisms, means that they ---------- ,
1) get nutrients from their habitat and live on dead organic matter

2) have extracellular feeding through utilizing living tissue

3) can feed from both living and dead tissue

4) are different from all other organisms in feeding

According to the second paragraph, which item about the cell walls of fungi
is NOT true?

1) They have carbohydrate deposits in their membranes

2) Some substratum enzyme secretions is present

3) Intracellular absorptive nutrition occurs

4) There is intramembranous digestion

The aseptate hyphae are coenocytic, means that they are composed of ---------- .
1) several cells each with one nucleus 2) one cell containing several nuclei
3) several multinucleated cells 4) one mononucleated cell

All of the following features can be diagnostic criteria for the two groups of fungi

1) the budding pattern 2) the thickness of hyphae
3) different shapes of the pores 4) pattern of branching in the yeast form
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